Factorisation

1 write down the following factors by inspection.

) X2+ 7x+12 VIt X2+ 13x« 40 xv)  x2-29x+ 100
i) x2+10x + 21 (%) x2-10x+24 xvi) x2-dx-5
i) x2+ 3x ¢ 2 x) x2-16x+28 kvil) x2-22x + 120
iv) X2 ¢ 8x + 7 xi) x2—2x-3 xviii)x2-x—110
V) x2+6x+9 Xil) x2+2x-15  xix) x2-x-42
vi) %2+ 10x « 25 xiff) %2 - 2x - 63 XX) xf+4x—77
vii) 2 = 7x + 10 Xiv) x2—2x—35, XXi) x4 +5x-66
2 Factomse the following ‘
1)y~—16 xi)2x2 - 11x + 12 xxi) 4-3x X2
i) 25 -m? Xi1) 82 « 26x « 1S xxil) 4x2 - 12x +9
iii) a2 - 9p? Xi11) 9x2 - 39% + 30 xxiil) 3x%+ 10x+ 7
iv) 64 - 36n2 O xISXZ e 1ix 2 XxIV) 2x2+ 3x -2
v) 4x2 - 9y? W) Sx2 - 16x+3  xxv) 3x%+ 7x -6
vi) 16 - 2502 xi)dxZ - 11x+6  xxvi) Sx2-33x+« 18
vii) 1 - 36a2b2 xvif) 22 -x - 1+ xxvii) 6x2 « 5x -6
viif) 812 - 16k2 Vi) 4 %2 « 23x « 15 xxviii) 12 %2 + 7x - 12
PP, SR - R, S
fx) (x+1)~ - (x-2) XiX)- x4 - 5% - 36 XXix) 3x i3x + 14

3Factorise R
) 3x2 5 10x+8 Vi) 6x2 - Sx = 21 x1) 12%2 + 8xy - 15y2

i) 12x2 - 7xy + y vn)2+ le2 Xi1) 7%2 - 4x = 3
1) 4x2 + 16y + 15y2 viii) 7%2 - 16% - 15 i) 10x% - 3% -9
V) 1 - 12x + 352 ix) 18x2 - 9x - 2 Xiv) 26x% = 41x + 3
v) 2x2 - 9x - 18 X) 12 -29x + 14x2 %) 5x2 - 34xy - 7y2
4 Factorise the following - you may have to combine methods
i) 2x2 - 18 - vifh) 16x4 - y - XV) 4Sx2y2 -80
if) 7a° - 28 iX) 22 + 8x - 90 xvi) 3ad- 48
i) 4x% - 4x - 48 K) 7% = 7y + X2 - y2 xvif)12a - 300 ¢ 4a2 - 25h?
iv) TRZ - ir? xi) | l - 99x2 xviif) 6><‘- + 33x 63
V) 15a - 60a° X11) 6%2 + 30X - 36 XiX) x2 - y2 + 3x + Jy
Vi) 3x2 + 21x - 24 ><nt)242x2~32y XX) 3x2 + 18x + 27

vii) 20x2y2 - 18022 xiv) 9x2 —4y + 12x + 8y xxi) 122 - 25x + 12




. Sum and Difference of Two Cubes
a5 +b3=(a+b)al-ab+b?) ad-b3=(a-b)aZ+ab+b2)

S5 Factorise
i) x3 + 27
i) as - 64
i) t3 - 1
iv)x2+ 125
v)y? - 1000

vi) da” + 32
vii) 2 x7- 54
viii) SmS -5
ix) 8 x3 + 27
x) | -27a3

6 Miscellaneous Factors

i)x2-6x‘
i) 102 + 25b
iii) 1 - 81a2

iv)aZ - 11a+24

Y Ty 2e 10wy
V) 3xe+ 12Xy

vi) m2 - 36

ix) 2x2 + léx -33

xi) 3 x°- 81
Xi1) 8 x3- 125
xiii) 4t3 - 500
xiv) Sy3 - 5000

Xv) | - 64y6

xvii) 4232 -17a-15

X) 3ax - 2bx + 3ay - 2by xviii) 422 - b2 + 6a + 3b

xi) 9x2 - 49y2
xif) 10><2 -x-3
Xifi) 10x2 « 72 x « 14

Xiv) 81 —><4

vil) x2 + Xy + 7X + 7y xv) (X —3y)2 - 16y2

i) 1 - x -72%2

7 Factorise completely:
(a) 2 =&
(d) 3o - 18m +27
(g) 4x* 30
(J 9 -9p?
(m) ax? +axy + 3ax + day
(p) Gax® +Sax - Ga
(s) 63x% - 287
(v) L+p+p?+p?

§ Factorise:
(a) - &
(&) 5p* + 10p®
(g) P -7
) e e 2

xvi)mz-n2+5m-5n

(b) 5x% — 10x —Sxy + 10y
(¢) x° ~1

hy & -«a

(k) 3k* +3k - 18

(n) (x+¥) +3(x+y)

(q) x* —=y* +5x -5y

() a* ~16

(w) 8% — 281 60

Y
6a*b — 9a*h®
at - b
a® - 5a° + 6

(0)
(e)
(h)
(k)

xix) 21aZ + 7ab - 352
xX) 14x2 - 80x - 24
¥xi) Qy3 + 7

EATA L gl 7 L

xxii) 6x2 - 33% + 45
xxiii) 2a% = 3ab + 8a =120
xxiv) x6 -1

2% —22a+48
P’ —4p - ptd
34* -39 +120
24a® -4 +9
Sxv? — 20x:?
X+ 12x — 12
(¢ -2y -4

8 - 8x — 0x?

()
()
)

U

()
()
(w)
(x)

x6 +x4 - x’
4q* - 84° + 6d’
m'® — u'®

}’4 + 4}'2 +4

(<)
()
(i)
U]

SIMPLIFICATION OF ALGEBRAIC FRACTIONS: MULTIPLICATION AND

DIVISION

1 Factorise and simplify:

4
(®) 2x+ 6

x+7
x+21

(e)

©) 355

0 =3




A\

Nw

2

3a+ 9 Tm —28 5 X tx
(8) 2 <18 ® 3 =12 O =%

. 2 _ 4 a+1 4)’2"’9
G =5 ® 7 O z+s

2 _ 4a 2x* -2 x* — 36
(m)‘;’a__d2 ® 35— () 33—1%

g —3a—4 X2 —6x+9 _xt -4
®) —7%1 @ =3 ©® x* +3x+2
y X243x+2 y m?4Sm-—24 gy £ Tt 12
©) P rsz+6 O Y —Tme 12 W =g

a? - x? . 2 —x—1 o _182% —8
Y a® +3a+ax +3x ) 4x? — 1 «) 62 +a—2
Simplify the following: ‘

2x +4 6 Sy—15 y+4

@ S5 Xxi3 ®) 5557 * 1o
Sy 2x—4 ., 5x—15 Sm+10 ., 6n+18
© 5 =9 *Ix-14 @ %3 X an+sg

Ty + 28 6 o 1+22 . 6+ 18a
(& 31 *G+24 ) 16+30s X T=2

2 2 2

Yoty 4t6 x? —3x , 2x* +5x
®.%%8 X33 ® = e
-‘ x+3 ,x—3 oo 3x+ 15 xx‘-—49
B 5 %+ 0 s *%—a
G £+50+6,a —a=2 @ Li+2 Y riy+12

-4 a -1 2y 5y+ 6 yr4Syt+4
a& y 34 y ¥y
xte6dtSs P+ Ix+12 Sy _m: =1 m? — 10m + 25
() T e a " x % 12x ¢35 O S _emes . mi-25
a — 24 a —16 2 +4x+2  xP+3x—4
O i 2" Fru-8 D dx ot 4
(Q) 3x2+5x+2x x2+x—-6 (l‘) 58 + 16a+ 3 Sqa® —a

x* —x—=2 3x? +11x+ 6 “‘254’—-1 2¢* + 52~ 3
@ Poyitxoy, 1m-10 © _(etbf = & tab—ac—be

xT —2xp+y* Sx+Sy+5 Y @ +abtactbe a+b+ec
Simplify:

3+ 6 .at2 x+2 .Tx+14
@ =777 O i
© ToF1 " 3m+3 @D 38 “3m—12

3x .x2+x 24y — 16 _:_3y —’2
©) &+15 T 5%+3 O ~H+5 iz

St —20.. Sm —20 25k + 15 . 5k+3
© 4m+6  2m® +3m ® 53 3k

i N2 —9 .n+3
® dn+td 2

a =9
a ~-a~-12

+Sa+ 4 .
at —--16

x* =4 2 xt-x—6
~7x+10 x*-3x-10
n® —49 . n® +1ldn+ 49
-9 nt—6n+9

® £

(m) =

Q)

+x"' +4x
-4 x¥—x

x+ty+x -y ltx-—y
Tty

y+7 ,y*—49
)’—7 )’2"‘7)’
x?+6x+9 . x2+5x+6
x?+8x+15 x*+7x+10
p*+Ip+10 . p* +2p — 15
pPP-2-8 pHp-12
2x® —8x — 42 - x* —9x — 14
x2+6x+9 x2+x-6
20 ~g—1 . 6a2 ta—1
(® 2
at —1 302 + 2 — 1
pP-@+n* . p-q-r
p* +pqg—pr—qr p'-pq-priq

@

M

(m)

(p)

©

-




Factorisation — Solutions

1) (x + 3NX + 4) Vi) (x+8)(x*S) xv) (x-4Xx-25)
1) (x+7)(x+3) iX) (x-4Xx-6) . xvi) (x-SMx+1)
f11) (x+2)(x+ 1) x) (x=14Xx-2)  xvif) (x-12)(x-10)
i) (x+7)x+1) i) (x-3)x+1)  xviii) (x=11Xx*10)
V) (x¢3)2 i) (x+5)x=3)  xix) (X=7)x+*6)
vi) (x+5)2 i) (x=9)(x+7) xx) (x+11)(x-7)
vii) (x=-5)(x-2) Xiv) (X=7)}x+D) xxi) (x+11)x-6)
2 1) (y=4Xy+4) x1) (2x-3)(x-4) xxi) (4+x)(1-x)
i) (S-m)S+m) Xi1) (4x+3)2x+¢S)  xxif) (2x-3)2

iii) (@-3bXa+3b) Xii1) 3G3x=10Xx-1) xxiii) (Gx+7)(x+1)
iv) 4(4-3n)(4+3n) xiv) (Sx+ 1)(x+2) XXiV) (2X= 1 X(x+2)
v) (2X-3y N 2x+3y) xv) (5x-1)(x-3) XXV) (3x-2Xx+3)
vi) (4-350X4+3q) xvi) (4x-3)x-2)  xxvi) (5X-3Xx-6)

vil) (1-6ab)(1+6ab)  xvii) (2x+IXx=1)  xxvii)} (3x-2X2x+3)

Viii) (Ox-4k)(Ox+4k)  xvifi) (4x+3)(x+3)  xxviii) Gx+4)(4x-3)

Ix) 3(2x-1) X1%) (x-9)x+4) XxXix) (3x-7)(x-2)

3 1) (Bx-4)(x-2) vi) Bx+7)2x=3)  x1) (6X-SyXN2x+3y)
i) (Sx-yN4x-y) viD) (245x)(1-2x)  xiD)} (7x+3)x-1) .
i11) (4x+5y)X+3y) vili) (7x+SXx-3)  x1ii) (5x+3X2x-3)
iv) (1=7xX1-5%) ix) (6x+1)3%x-2)  xiv) (2x=3N13x-1}
V) (2x+3XX-6) X} (4—7x)(3-2x) xv) (SX+yXx-7y)

41) 206=3)(x*3) ViTi) (2x-y)2x+yRax2+y2)  xv) S(3xy- A3xy+4)
i) 7(a=2)(a+2) iX)2(x+9)(x-3) xvi) 3(a-2)(a+2)(a2+4)
1) 4(x-4)(x+3) X) (X=y {7+x+y) xvii) (2a-5b)(6+2a+3b)
iv) THR-TYR*r) Xi) T1(1=3)(1+3%)  xviii) 3(2x-3)x+7)

v) 15a(1-2a)(1+2a) xii) 6(x+6)}(x-1) XiX) (x+y)(x y+3)

vi) 3(x+8)x-1) xitl) 201 Ix=4y)(11x+4y)  xX) 3(x+3)2
vii) 20(xy-3z)xy+32) xiv) (3x+2y)(3%-2y+4) Xxi) (4x-3X3x-4)

5 ) (x+3)(%2-3%+9) Vi) 4(a+4)\a-—2av4> xi) 3(><-=3}(><2+3x+9)
m(a-4).(a2+4a+16> Vi) 20x-3)(x2+3x+9) xu)(2x-5)(4x 2,10%+25)
i) (-t +t+l) viii) S(m- 1)(m2+m+1) xiii) 4(t-5)Xt +5t+25)

V) (X+5)(x* -5x+25) ix) (2x+3)(4x2-6x+9) xiv) Sly- 10)(y +10y+100)
V) (y-10)(y2+ 10y+ 100) %) (1-3a)(1+32+922) xv) (1-dy2)(1+4y?+16y%)




6 i) x(x-6) ix) 2x=3)(x+11) xvii) (6a-5)X7a+3)

ii) 5(2a+5b) X) (x+y)(3a-2b) xviii) (2a-b+3)(2a+b)
iii) (1-9a)(1+92) xi) (3x-7yX3x+7y) xix) 7a(3a+b-5)
iv) (a-8)(a-3) xii) (5x-3X2x+1) xX) 2(7%+2)(%x-6)
V) 3x(x+4y) x1i1) 205%+ 1)(x+7) xxi) 9(x+2)(x2-2x+4)
vi) (m-6)(m+6) Xiv) (3-x)(.3+x)(9+x2) xxii) 3(2x-5)x-3)
vii) (x+y)Xx+7) XV) (X=-7y ) (x+y) xxiii) (a+4)(2a-3b)
vith) (1-9%)(1+8%)  xvi) (m-n)Xm+n+5) xxiv) (x-1)(x+ 1(x%x2+ 1) or

(= 1) 2 x+ 1)+ DX2-%+1)

7. .(a) 201 = 2xX1 +2xz) (b) 5(x —y)(x)-(;JZ) e+ D)
2(a — 8)a — 3) (@) 3(m —3)(m —3) (€) (x — D(x + Dx* + 1) ) (@ -4)Xp - +
23 421 —3Xx+3) (h) ala — 1)a+1) (i) 3(a — 8)a = 5) () 901 —pX1 +p)
(k) 3(k+ 3Nk =2) (1) 3Q2a - 3)4a - 1) (m) a(x +y)x + 3) (n) (x +yXx+y+ 3)
(0) Sx(v — 22Xy +22) (p) a(3x — 2)02x +3) (@) (x = y)x +y +5) (r) 3(x - 22()5 =2)
(s) 73x - 2¥)(3x +2y) (1) (@ +4)a — 2Xa +2) (u) ala — 4) (v) (1 +pX1 +p°)
(w) 42c +3)(¢--5) (x) 22 4+ x)(2 - 3x)
@ ate@-1) () YO+ (© x’(:;’ +x=1)
254} (f) 2° (22 — 4a* +3) @) & -y +y7)

4 2 -
(d) 5p*(1 +2p) (€) 3a"b(2 ~ 3a 24 3)x? +4) (K) (@ -2}’ ~3)

(h) (2 +b)a - bYa+b) () (m* + nS¥ms —n*) (§) &
o ¢ +2)

2. 4
03120 @ TS5 @2@ 303 ® ;0L Gx2 0

2y -3 -4

tt4 - +1 2(3a -2y
W3 (v):zw; (W)2§+1 x) 2:,-,1)

y—3 10 15 1
}(a) 4x (b) — (c) 51 (d) 5 (e) 3

® 3(1 +20) (g)y(2y+3) (h) 2x + 5 1 . x+7 a+3 x+3

30-20 2 30%4) D5 Wy O 5 W 01 o

(n) m+ i
m+5

(@+2)a~4) _
e P55 @O 02 @tbd-ca-o)

(o)
2a~1 a+c

3 6 (b) 2 2 () 2 | =3
JWE®F @S5 0 gy 016 @F 02 05 ok

' atl x+2 pt+a (n—=7)n-3
) ;=3 01 (m) 275 () — () (',:+1)(:+7)) ® 2 @3-1) @1 @2

(prq+r)p-9q)
t
® (p+q)






